


Variants
-

Model Information
, , ,

Serial Number ranges
-

Production Dates
-

# Part # Part Name Description Qty

1 87747919 RADIATOR ASSY SEE PAGE 4 1

2 87605148 PLATE - ASSY 1

2A YB05P01163P1 FOAM INSULATION - 1

2B 87340492 FOAM INSULATION - 1

2C 87340494 SOFT TRIM - 1

3 87340497 PLATE - ASSY 1

3A 87340501 INSULATION - 1

4 87340503 PLATE - ASSY 1

4A 87340505 INSULATION - 1

5 87340506 INSULATOR - 1

6 87340507 O-RING 44.70mm ID x 51.70mm
OD x 3.50mm

- 2

7 16043434 BOLT Hex, M8 x 1.25 x 20mm,
Cl 10.9, Full Thd

- 4

8 87340508 INSULATOR - 2



# Part # Part Name Description Qty

9 14496531 WASHER 8.4mm ID x 17mm OD
x 1.6mm Thk

- 4

11 87338008 TIE-ROD - 1

12 11112234 BOLT Hex, M12 x 25mm, Cl 10.9,
Full Thd

- 1

13 11112634 SCREW M12 x 1.75 x 35mm - 5

14 14496731 WASHER M12 x 24 x 2.5 Thk - 6


